3) MAT-1

aifger drvaa wfen
MENTAL ABILITY TEST
¥R S 1§ 5 100 3§ | e R s 9 w2 |
THERE ARE 100 QUESTIONS IN THIS PAPER.
EACH QUESTION CARRIES ONE MARK.

W (1-8) / Questions (1-8) fere
- IS m_ﬁawgﬁnﬁmmaﬂiﬁﬂmw
(?) R g T B | 7 vz 3@ Ao 3 A9 R W e R A A TR R t;@ﬁmmm |

Instruction: Tn each of the Question Nos. 1 to 8 a letter series is g wlth' one tirl':;l
missing shown by question mark (?). This term is one of the fou tives g1

under it. Find the correct alternative.
1' R" v! ‘A! CI) N: ?

(1) U @ v () C) @ %
2. AC, FH, KM, PR, ?

1) UX @ TV @) VW

3. NZ OY,PX, QW,RV,?
(1) FS @) ;\ 3) TU @ SU

4. AEl EIO, IOU, QUA,

(1) UXB (3) EUA (4) AOU
S. ABZ,DFX, G @
{l) \ ) QRQ (3) MRQ (4) QVR
6. N, VIDNINETEENCO, DNINETEENCOVT, ?
(1 ENCOV (2) NINETEENCOVID
(3) INETEENCOVIDI (4) INETEENCOVIDN
7. RADIUS, RADSIU, RADSUI, RADUIS, ?
(1) RASDIU (2) RDAIUS
(3) RADUSI (4) RAIDUS
8. H2J,K3N, 048, ?
() T5Y 2) T5Z
() T5X (4) TSA

NTSE(1)20-21-MAT-701-A



MAT-1
W (9-16) / Questions (9-16) ﬁqﬁt{ﬁ"ﬁﬁa %ﬁﬁw &m
& s w9 @ lﬁﬁmﬁﬁﬁwwg‘;:&ﬁﬁ% wﬁmm‘ﬁ'ﬁ“'

(7) & aofen an § | W W 3 ot 35 A R M =W

. umber
Instruction: In each of the Question Nos. 9 to 16.3. :n e
term missing shown by question mark (?). This term 13
under it. Find the correct alternative.

9. 2,3,5,8,13,%,34
(1) 23 (2) 21 (3) 20
10. 3,8,15,24,35,2

(1) 52 2) 50 (3) 48 6\46

L. 8, 24,28, 140, 146, 1022, 1030, ? O

(1) 1040 2) 8240 (3) 103900
12. 2,9,3,28,4,65,5,9

(1) 137 (2) 126 {%0 @) 115

13. 4,17, 290, ?

(1) 84100 (2) 84101 \(B 84102 (4) 84103
14. 3,3,45,9,22.5,9 ’@

(1) 273 2) % 3) 55 4) 67.5
15. 4,5,12,39, 160, ?

(1) 225 \® 95 (3) 805 4 790

16. 2,3,7, 16, 320
1) 5p 4 2) 39 (3) 56 4) 55

5w (17-19) % Questions (17-19)

Ry vy e 17 @ 19 7 o 3 v we oit 3wk 3 fred Taan [ R W § | 2w 2w
) IR Ted WA 8, 0 3w awdt @ e wdta @ v § |t et o samgds e o
7 hifo foh e wom a—an/& Fread fa T wum = AT TR s w /e W
Ig/4 |raE: Tia a4 fm y/d | -
Instruction: Question Nos. 17 to 19 has a statements and two conclusions
I and II. You have to assume the given statements as true even it seems to vary from
commonly known facts. Read all the conclusions carefully and decide which of the
given conclusions logically follow(s) the given statement even disregarding commonly

known facts.

series is given with one
four alternatives given

@ 22

(4) 9270

NTSE(1)/20-2 1-MAT-701-A
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(3) MAT-1

A, 91 0 i O e

() i wm wa % e, Im & s e s st
(IN) 2o & wt wim AT R |

(3) 2R et 1 ot 11 srgEm e §
) M Frewd 1 3 v 11 oo w2 |

Statemen - Unemployment is one of the main reason for erty of the
country.

() To end poverty it is requi te employment
opportunities. {6

(1) All the people inthe co unémployed.
(1) Only conclusion I follows.

(2)  Only conclusion II follows.
(3) Both conclusions I and l[ l

Conclusions -

(4) Neither conclusion I no

18. & : fmm@ﬂl
4y Y SR YA o ¢ |
Héﬁ:ﬂ?%ﬁﬁﬁﬁﬁﬁl

(1} \GF'T"'
aﬁmmm%l
(3 e | ot 11 e e |

(4) 7 e 1 3 3 @ Frewd 1] s =@ 2 |
Statement:  Morning walk is good for health.
Conclusions: (I) All healthy people go for moring walk.
(1) Evening walk is harmful.
(1) Only conclusion I follows.
(2) Only conclusion II follows.
| (3) Both conclusions I and II follows.

(4)  Neither conclusion I nor II follows,

NTSE(1)20-21-MAT-701-A



MAT-1 ©)

19. =eH: mmmﬁﬁﬁﬂ%’l
e - D ot} srferdiom W e T E |
(1) e o & ST Ak 8, e R € T E
(1) e fred | avemror o @ |
(2) ae Fresd 1 sewT w@ R |
(3) IFrfrewd a1l sgamr ww § |
@) = et 1, 7@ Frend 11 smmor e 2
Statement:  Animal live on Oxygen.
Conclusions: (I) Plants do not live on Oxygen.

(II) Anything that needs Oxygen is bound to bNﬂtﬂl-
(1) Only conclusion I follows.

(2) Only conclusion II follows. O
(3) Both conclusions I and II follows.
(4) Neither conclusion I nor II follows.

20, ﬁqﬁﬂaﬁmaqm@,qug‘maaw%aﬁ@mﬁuﬁhm%?

‘Which one of the following Venn-dia orrectly represents the relation between
currency, Rupee and Dollar? c '

P DR @
(3) O\® 4) OOO

21. frad e e, AR T T % e T i s e 32

Which one of the following Venn-diagrams correctly represents the relation between
Mumbai, Madhya Pradesh and Bhopal?

oD =69
(3) @ (4)
()

NTSE(I)/20-21 -MAT-701-A



(7) MAT-1

22, e Qs 39 o v, 9 i AR & won w0 o o wefi e 87

Which one of the following Venn-diagrams correctly represents the relation between
Herbivorous, Lions and Animals?

6+
O

23. 3 it e Wi ONLINE #! LNOENT 7en SILENT # LISTN@M ¢ A
Fe A LISTEN #t @ foran w2
In a coded language, ONLINE is written as LNOE ’ENT is written as
LISTNE; then in the same coded language, L1S fEN written as.
(1) ILSNET 2)
(3) SILNET @ S

24. af et 52 T HAVOID %t 73564 Fen aerzsm?ﬁqmm%,?hzm@w
# COVID it @ foran wrem 7
In a coded language, AVOID is 564 and CHINA is written as 28617;
then in the same coded ]anguﬂﬁ will be written as.
(1) 53246 (2) 25364
(3) 25346 (4) 25634

W (25-27) / Question

fRdw: fraforiam gemet gt 37 U TG W9 EEA 25 9 27 % I i

Instruction : owing informations carefully and answer question number

25 to 27 base

afg et 5z s & 461 = 312 @ WHERE ARE YOU; 169 #1 %1% 2 'YOU ARE GOOD' @ent
8652 =1 w19f 8, 'EXAMS ARE NOT BAD..

In a coded language, 461 means WHERE ARE YOU; 169 means 'YOU ARE GOOD!
and 8652 means 'EXAMS ARE NOT BAD'.

23,

26.

'NOT' =t I %2 27?

What is the code for NOT"

(1) 6 2) 9 (3) 5 (47 |
'GOOD' = &1 %2 27

What is the code for 'GOOD'"?

(1) 9 (2) 4 (3) 6 4) 1

NTSE(1)20-21-MAT-701-A
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i

28.

29.

FE W f-i "WHERE ARE GOOD EXAMS' @t &8 foran smm?
How will ' WHERE ARE GOOD EXAMS' will be written in coded language?
(1) 1654 (2) 4619 (3) 1945 (4) 4698

ﬁ““ﬁﬁam‘ﬂﬁmﬁ% | 38 U H 3 2 F (G0 Felh T RH-HT 3 Fm?

The two positions of a single die are given below. Which digit will be at the face
opposite to the face having digit 2.

G N

(1) 3 (2) 4 3
ﬁﬁﬁ‘ﬁmﬁ@mﬁﬁﬁﬁﬁﬁﬂmrm F 5 Tl AR, OR, &,
*‘@'Waﬂ‘m'f'ﬂﬁwwilﬁﬁm% 398 werss T femn =, &t e

@) 6

TeTeh T AT T1 3 ?

The two position of a single cube are sho

_ low. The six faces of this cube are
coloured with Green, Yellow, Red“dla

Pink and White. If Green coloured face
bottom's face?

»

(1) =g/ ] “TlfGreen (7) den/Yellow (4) @m@/Red

s (30 33) / s {m -33)

I-:ﬁﬁahi%l

3 3 % 18 anEl v zdw e wa S, ek gl & sk

Instruction : In Question numbers 30 to 33, find the correct mirror image of the give
figure, when mirror is placed on right side of the figure

30. WA AR/ Question Image IW A/ Answer Image

NSNS

3) / (4) /




32.

33.

34,

3,

NTSE(1)20-21-MAT-701-A
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31. ww gt/ Question Image IW AFi/ Answer Image

I——

E M é @ f

o || é
VIRUS V_
o

(1) vraue (2) VIRU2 (3) 2UAIV
53768
(1) B8a7€2 (2) €708 (3) ﬂ&ﬂ (4) 8ovEL

Which of the answer figures will complete the
Ty Rid/ Question figure

SRS

I TR/ Answer figure
(3) | ‘ (4) *ﬁ

ﬂqﬂ@ﬁ ™ Amm-fm = gl weme
Which of the answer-figures will complete the matrix-figure?
W¥A HFHf/Question figure

W -, 3 T AR A gl wen?
@w

oG 1S

I 3/ Answer figure

(1) ?E @) 3) g () E@

[RTO.



MAT-1 (10)
7
36. =R 24w, 2020 @ viveram o, @ 24 s, 2020 T B G A A—
Ifit was Tuesday on 24" March, 2020 then what was the day on > 2020,

(1) gwem/Wednesday (2) wmeran/ Tuesday
() wmar/Monday (4) am/Sunday
37 10200 3 wea i R wremd 3 0 2 o 7 2 4 ST A7

Hlow many numbers from 10 to 200 are there which are divisible by 2 as well 72
() 13 2) 14 3) 15 (4) 16
W (38-43) / Questions (38-43) ;

ﬁiﬂ:mﬁmssﬁﬂmmﬁ?ﬁaﬁmﬁwﬁgﬁnmﬂé, e faeea v oA 2 1
T e 1 | ‘W‘\

Instruction : In each of the Question numbers 38 to 43, thr tives are alike in a
certain way but the rest one is different. Select the odd o

38. (1) <f®/Chalk  (2) wom/Pen
39. (I) &/Taxi  (2) =a/Bus

encil (4) ==m/Map
ar (4) Z=/Tanker

40. (1) <@/June (2) / August

(3) %&a/April Q} F&=t/November
41. (1) sehre/Africa ’\ (2) gia/Europe

(3) siRmn/Australia (4) #%ws/England |
42. (1) w#=/Hand (2N HR/Leg (3) *A/Ear (4) m&/Neck
43. (1) v%/Cone \ (2) frge/Triangle

(3) omn/Rectfagle (4) 7W/Circle

44. Peafm 9g (?) Fargd :
Identify the missing term (?) in the following figure.

37 1 5\

(1) 114 (2) 113 (3) 123 (4) 124

NTSEM20-21-MAT-701-A
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45, fam= wwoft ® srqufenm ug (7) F0EA ¢

Identify the missing term (?) in the following table.

1112 |13
14 15 |16
21314
39 | 57 2
(1) 87 (2) 85 (3) 77 4) 75

46. 3T o B W9 ®, vl o § S |, Wi I e 78 g e 2, forg Soma
AT | G TR T AL |

Ishant is taller than Sanjay, Ashok is taller than Ish is not as taller as

Ashok but taller than Ishant. Who is shortest in heicht®

(1) ws@/Sanjay (2) ™achin

(3) $m=/Ishant A 78 = @ha/Can't be determined
47. 39 frenfefa %t v e H g, @gluﬁmﬁhmawﬁ% at gehat

A s A Fd T o2 \

In a class of 39 students, kes rank is 7 more than Gautam's rank. If Gautam's
rank from end is ]?ﬂ‘ at will be the rank of Mukesh from beginning?

(1) 134i/13® O\ (2) 14%/14"

3) 15@ (4) 1616
48. 14 femwar, 2020 =t gag 4 ==t @ o 1S gy, 2020 | g 4 T T v R e fvad
7 e i g3 foherdt aw sifoew =i ?

From 14 December, 2020, morning 4 O' clock to 15 December, 2020, morning

4 Q' clock. How many times, the minute hand & hour hand of a clock will overlap.
(1) 21 (2} 22
(3) 23 (4) 24

NTSE(1)/20-21-MAT-701-A



MAT-1
Y (49-53) / Questions (49-53) 3 FeaTA T
i Frexfofian v 19 o T i s # | S A

¥t & I AT | S
Instruction : The following questions are based on the diagr
the diagram carefully and answer the questl

7 T IR
given below, Study

ons based upon it.

I
(i) 9@ T H
(i) =i @ aRerdia
(i) Py & ndfion =
(iv) amma & gigumt =i Fefta fFrman |
In the diagram \
(i) Circle represent unemployed 0
(i) Square represent Hard working O
(i) Triangle represent Rurals = -
(iv) Rectangle represents intelligents. Q
rtor (R
' s 1 5
17 /3 — SO
19 11 6 7 (Unemployed)
1
TR \ g 16
(Hard working) @ 18
10 «— ghgam
(Intelligents)

49, @m,%mmgm%wmﬁ%,mm%ﬁmmﬁﬁﬁﬁﬁa

50.

fomam w2 |

The rurals which are Hard working and intelligent but not unemployed are represent

in the diagram by.
() 14 (2) 1 3) 9 @) 3

represented by
(1) 1 2 2 3) 3 a5

NTSE(I)/20-21-MAT-701-A



13 MAT-1

51. ¥R ¥, i f5 3w it § g A A omdtor # vE @ qRerdt 2, @ v T |
The unemployed, which are intell; gent but neither Rurals nor Hard working are
represented by
(1) 1 2) 8 3) 9 (4) 1

52. =@ < i wmdhoy, 2, wiRendt 2, S } o gfgum o 3, @ qeta T d |
Those who are Rurals, Hard-working and unemployed and also intelligent, are
represented by
(1) 14 2) 9 (3) 8 4) 1

53. ﬁﬂ‘ﬂlﬁﬁﬁm‘r,vﬁﬁﬁmi.ﬂﬂﬂﬁ‘mﬁmqﬁwgqﬁq& 3 et |
Those persons who are neither rurals, nor unemployed and norintélligent but Hard

working, are represented by
(1) 53Wand7 (2) 123Mand 17 (3) 10 #/and ) 15 #/and 16

54. form wen Rt i, et & =t @ wafrm 3, 3ot e ¥R aafRa |
As clay is related to pottery in the same way goldis felated'to which of the following.
(1) siwe/Woman  (2) FWGoldsmith (3)\aOmaments (4) sRMetal

55. e wew e, wen & wrafRm 3, 36 yan fored mafRm ¢ |
As bird is related to kite, in the same fish is related to which of the following,
(1) =mE/Crow . N2) wg=t/Submarine
(3) wg=I/Boy \ 4) wm/Thread

56. form yor 9w W vy el 2 TR I o T e 37

' in the same way, 'Centimeter is related to

As 'gram’ is related to 'm&
(1) &=we/Area K /Volume (3) wa@/Density (4) wwaw/Length

we (57-61) / (57-61)
Ay eTYE ufgu 3R 3@ W anuha wel % I A |

Instruction : Study the informations given below carefully and answer the questions

based on it.

s v T 8 R R T 1 0 R T e R e 64 A A i -u
v o uftafia e R

All the faces of a solid cube are coloured with red colour and then cut it into 64 small

equal cubes
57. @ for o R, Rweht Sact o wag oft g 27
How many cubes are such with only one face is coloured?
(1) 12 (2) 24 (3) 30 (4) 36
(PTO.

NTSE(1)/20-21-MAT-701-A
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58, @ et w3, Rorrdt Q) Pradia weg o 1 & T T 27 o
How many cubes are such with two opposite faces are red coloured:
3) 6 @ 3
ot e fo T €6 27

(1) 0 (2) 4
39, ETC mAl
) m%,ﬁ{qﬁaﬁmﬁmmmﬁvﬁgﬁ redcnlouradandthc remaining

How many cubes are such with two adjacent faces ar¢

faces are not coloured?

(1) 3 (2) 12 3) 16 @ 24
60. A frm w2, et di7 v e TR g 27

How many cubes are such with three faces arc red coloured? 5

How many cubes are such with any of the face is not col

(1) 0 (2) 6 (3) 8
61. & fr w2, R g ot wa oft g T 27 \
DULSE

(1) 6 (2) 8 3) 10 2
62. W@ 58132764 e sic R, <t wrow @ 3 @ 137 S AT
w0 H T W AR ? '
In numbers 5 8 1 3 27 6 4. how many digits u@i at the same distance from

the beginning as if arranged in descending !
(1) ®/Three  (2) A/Two 3) “w/One (+) s TE/None
W (63-65) / Questions (63-65) %
39 wo T 63 § 65 TAh 3T TEmal o et € |
Instruction : Question Nos. 63 to Xa ased upon the following five, three-digit
numbers.

386, 752, 961, 573, 839
%ﬁﬁﬁmaﬁﬁmm,ﬁmﬁmﬁagﬁéa

63. afe uei® §E &
3@ & A

?
If unit place gad*hundreds place digit of every number is interchanged then what
will be thiés unit place digit and Tens place digit of greatest number?
(1) 7 2) 1 (3) 12 (4) 14
64. aﬁmﬁw%sﬁlﬁama&aﬁﬂw Foe fem A agﬂmﬁaé_tﬁwmgaﬂ?
If unit place digit and Tens place digit of every number is interchanged then what

will be the second greatest number.
(3) 96l 4) 725

(1) 893 2) 863

ﬁwm%ﬁﬁgﬁmmaﬁﬁaﬂmaﬁﬁﬁaﬁmﬁwﬁ{ﬁm

T T, ﬁsﬂmﬁﬁ#@mﬁﬁﬂaﬁaﬁlﬁmaﬂqﬁﬁnﬁ?

If the digits of every numbers are rearranged in such a way that it form smalles!

possible number by the digits then what will be the biggest number out of them
(3) 691 4) 389

(1) 368 () 527

65.

NTSE(1)/20-21 MAT-701-A
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66. = fa m sfemivwa s 8 AR 37 4 7 3 ) wrem fafing @ R wm @ T e w

qm? _
In the arithmetic expression given below, if the digit 4 and 3 are interchanged then

what will be the solution?

4x2+8-3+2
10
1 10 & = (3) 18 @ 12
67. 2 A W smnfirdia = § ol g x 7o + =it wer e & G a9 @ e
gme
In the arithmetic expression given below, if the sign x ang| + are jn¥erchanged the
what will be the solution?

68. Fg+aw + s s 2w 3w A sa & :

1 T Wel o v 22
After interchanging the sign + and + and alS¢(in
of the following is given with correct s

(1) 4x3+8-3+2=17 ° \ 4+ W8 -F = 2=
(G) 4+3x8+2x3=17 (4) 4+ 84+2-3=1

§x3-2+4+3+3
29
» 5 @ 9 . 03 B 49 3
@ﬁﬂ:—ﬁmﬁmm

69. e e 8 50% el kg 3 o 9 Pt I%ﬁw%étwﬁilﬁn

H A waar grEifea W T d et w afewe 59 1 w2 wm # |

v ? th
If 50% boo m@vr&ry are in English language and - of the rest in Hind
language which of the following siiaded part approximately represent books in

Hindi language.
(1) / ) %

3) 4)

NTSE(1)/20-21-MAT-701-A [ P
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et (70-72) / Questions (70-72)

Pwr: o if fremd s g @A AR R T IT
70 & 72 ﬁwﬁ‘ﬂmmﬁﬂi.ﬁmm.f and Charvi aré s
Instruction : Inanopen graund Rand. Shaii¥ arefully W

an equilateral triangle. Study the questions 70 t0 72 ¢
following diagram and select the correct answer.

Ranu (R)

Nm
‘ﬁ“e-j——)‘@‘
Wja’ E

8 N O
Shaifu(S) O

Charvi (C). <
j ; 1L i o
74. mﬁﬁﬁaﬁﬁxﬁﬁ,%?&@ﬁﬂ@ﬁ ki E‘EF" -

e & e e w8 27
From the positions shown in above ﬁg@&nnu, Shaifu and Charvi run along the

e 9 L ; ;
sides of equilateral triangle in m@dlrectmn for IE sides of triangle. Now

which of the following stateri€pts 15 true?

(1) =, Jig o afyem Charvi is in West of Shaifu.
(2) T4, 9 & e % |/Ranu is in South-West of Charvi.

(3) W™, AFH #2 |/Ranu is in South-West of Shaifu.
@) %—qza’ 32 1/Shaifu is in North-East of Ranu.

s e s R 8, 1, o e ot et o vy P 1% ot 7
| sra v, 7 & v P 8 o |

From the position shown in above figure, Ranu, Shaifu and Charvi run along the

m@wmﬁmwilm

tanding at the corner of

hich are based on the

7k

sides of equilateral triangle in anti-clockwise direction for 1— sides of triangle
5 :

Now Shaifu is in which direction of Ranu?

(1) 93 Rema/ In East (2) =femfem ¥/ In South
(3) Tm-uf;em =/ In North-West (4) Tm-gd famd/ [n North-East

NTSE(1)/20-21-MAT-701-A



we (75-77) / Questions

74.

an MAT-1

ﬁaﬁmiﬁlﬁﬂ,ﬁ.%@ﬂ@ﬁmﬂmﬁgﬂm | gt ek 35 § | 3|
e, o @ R R H R

From the position shown in above figure,
sides of equilateral triangle in clockwise direction for I side of trian

is in which direction of Shaifu?

(1) zfem-afeed #/South-West (2) zeo-gd#/South-East
(3) sw-afeed H#/North-West (4) sw-gd #/North-East
sy d, AT, Ay O Wit Aoy’ ) R “RaERe D W
i B, IR TG R

af? CAA, AIB, D¢B w@ B&C @,ﬁgﬁﬁv@ﬁmﬂwﬂﬁﬂ l\a
In this question, 'A' means "Greater than" '[] means "Less than"@‘l

to", '@ means "not equal to"

If CAA, ACIB, DB and B@C, then choose the cnmc&ne following.
(1) DOC (2) DAC (3) AAC 4) BOD
oA gd @ 3R 4 diew e, R 3 geeR TWW@%EQ 5 it wrereRt for 1T
e, 7ty e | o =g 3 A e g ot oA & wTen | 797 e g 9
foreft 27
Darshan walked 4 meters in East, then right and walked 7 meters, then he
turned left and walked 5 meters xﬂ ed left and walked 7 meters. Then
finally before stopping he mn@ walked 3 meters. How for is Darshan
from his initial point?

(1) 10det/meter (2) %l/mater (3) 12 §t/meter (4) 13 dR=¥/meter

Ranu, Shaifu and Charvi run along the
gle. Now Charvi

ns "equal

& & v R & o ) Wi e T @ |

fEw: = & 2 mnofi §

AR | sl ﬁ%mﬁmﬁilﬁﬂﬁmmmmﬁﬁﬁ

TgH! 3 I AT |

i Fel A VIed fafeheet et AT viea e |
LG 5 3 |
e 4 4 ||
ar 5 9

|| A 6 3

| = - 2 |

| ® 3 | 3 |
s - -~ 4 |

(P.T.0.
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MAT-1 (18)

e in a hospital. Th;
Instruction : The following table shows the record of Sut;ﬁ:}'c:;%m}r N lhi
record shows the data from January to July. Study the

e T
following questions. _— ccessful Surgery |
| Month -. ]  Total successful surgery ___Tntal itk |

L [

January 5 4 \

February / 4 ” \

March 5 3 II

’ April 6 |
May 4 \2

June 3 O 3 \

ET B 614 .
75. I TR ¥ SgER Twe viea R w5 i £

As per the above table, what is the percentage ¢

(1) 32%
(3) 58% 4 21%
76. TrE AR # oreddrel § WHe vied ™ T e 27
In which month the percenta sstull surgery was hizhest in the hospital?
(1) w=ad/January (2) awder/April
(3) Sem/uly K (4) ==/ March
77. T am 1 s B v TR =1 wftera was vy 27
In which mo t@percentagc of unsuccessfull surgery was highest in the hospital?
(1) ?&-@ (2) “3/June
(3) wad/February (4) =r/March

78. afda b sepA FEMLR 1A a + b= 2020 B d (1) + (=1)° % o == e
If a and b are natural numbers. [fa + b = 2020 then what will be the value of
(-1 H-1)?
(1) 1=a/OR -1 (2) 2020 =/0OR - 2020
(3) 1010=/OR -1010 (4) 2=/0OR -2

NTSE(1)/20-21-MAT-701-A
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79. 1 & 100 3 wea W frad quis & < B B wvft et =6t wege v 22
() 3AwmPRIEA LD
(i) 5 & v 33 o v 1 8|
(iii) 7 & s 3% o e O & |

How many integers are in between | and 100 which satisfying all the following

conditions?
(i) After divided by 3, remainder is |

(i) Afterdivided by 5, remainder is |
(iiij) After divided bv 7, remainder is 0

80. Um T W AR WA AT | fog | 2w
Fraw famfem o mn @ | el s |
uftrg 20 @+t 2 | = =1 ufteng @ @
A square is divided into four identical rectangles. Q

The perimeter of each of these rectangles is 20 cm.
What is the perimeter of the square? ,
(1) 80%f./cm. (2) 50%#./cm. (3) Jem. (4) 32@d./cm.

81. & siwarch ag wad adh v v ad 9% v 2 e i S e

: S
Bidt v fred ogd it 3iw 8 7 4 A WA ?%wm?
-digit number having 8 as tens place

What is the difference between the b
and divisible by 4 and smallest 3-di r having 8 as tens place and divisible
by 4? .

(3) 708 (4) 788

(1) 888 (2)
3\

.aﬂgﬁql_

Instruction : h of the following questions, there is a certain relationship between
two given numbers on left side of sign (: :) and one number is given on the right side of
sign (: :) while another number is to be found from the given alternatives having the same
relationship with the number as the numbers of the given pair bear. Choose the correct

4] 2

alternatives.
%2 20:11::102:7 '

(1) 49 2) 52 (3) 6l (4) 9%
83, G:35::7%

(1) 48 (2) 42 (3) 34 (4) 13
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84. 9:162::8:7 @) 162
(1) 96 (2) 112 (3) 128

85. 64:100::144:7 &) 19
(1) 121 2) 169 (3) 180

86. 0.01:0.0001::0.05:7 " o
(1) 0.00025 2) 0.0025 (3) 0.025 (

87. fr=felRea i sl 70 4 =rafem $iftw :
Arrange the following in a meaningful sequence :

S i/ Seed

(1) w8a/Crop  (2) =g/Root (3) @n/Stem

(5) wA/Flower

(1) 41235 (2 24351 (@3) 23%\0 @ 4,2,35,1

8. Frer- e it ol 3o 8 e i ng

Arrange the following in a meaningful sequ
(1) =sf/Rain (2) =ws/Clou

(5) w=rFEA/Monsoon g
) 3\12%& @ 135245 W asias

werEri/Ocean (4) F€t/River

(I.} 5:\ 2! l! 41 3

NH (89-92) / Questions (89
e Frferfem e

Instruction : Read

89 to 92 based on j
FfA v sifm, ﬁﬂﬁ%aﬁﬁimﬁaﬁmﬁmﬁgﬁ,ﬁrmmﬁﬁéﬁ%;

oft Tt 3 fiem @ vt oft | T 3k T, gﬂtqﬁﬂm%aﬁglaﬁﬁmqﬁ, A U Al fy
i g |
Kriti and Amit are two children of Smt and Shri Mittal Amit, married to Ananya, who is
daughter of Smt. Goyal. Shri Goyal had married to Rita. Sony and Rakesh are children
of Sumer and Rita. Urvi and Poorvi are daughters of Ananya and Amit.

89. UHw I ForAH FAT 7
What is the surname of Rakesh?
(1) 7@ /Goyal (2) et Mitta 3) F@/Amit  (4) F /K i

qa:mmamrﬁamm 89 ® 92 7 % Im &
rmation given below and answer the question numbers
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00, T % WM GRUE FN TAU R ?

What is the relation of Sumer with Poorvi?
(1) wm/Brother (2) =m=/Uncle
(3) =m/Maternal Grand Father (4) F/Father

9], I ®1 HA | FN T 27
What is the relation of Urvi with Kriti?
(1) =g/Sister (2) wdrRd/Niece
(3) sl /Andt Aunty (4) =&/Daughter
92. € # 3ft MO | A gy 27

What is the relation of Sonu with Shri Goyal?
(1) =7a/Sister (2) wd/Brother O\

(3) =1/a& /Son/Daughter (4) Tm/Father O

W (93-95) / Questions (93-95)

w1 & i sjren = uRdy ot v s 93 R 95
Instruction: Read the sequence given below
7.6,3,2.3,5.4,3,5.2,7.6,4.5:2,3,6 528 L3 6.8 26,3 2,3
93. faret @ S % 3w 2 , 9t 36k di %}?

How many times 5 is followe b ¥4 does not occur just before 1t?

(1 1 2y 2
3) 4 @) 5
94. forert am 2 % & M T 7
How many times MNs¥ollowed by odd numbers?
(1) 4 O 2) 5
3) 6 @) 7
95. et 3 Ugel HYUET Bieh 918 o 4 AT 27
How many times has number 5 been used just before or after 4?
() 1 (2) 2
@3 3 @4) 5

96. fareht wi i e @ 9ve & gear 4 12:30 I =01 0 g 2

What will be angle between minute hand and hour hand of a watch at 12:30?
(1) 180° (2) 150°
(3) 175° (4) 165°
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o (97-100) / Questions (97-100) |
Frdn: Freforia s 8 s & e it g 0 S aammﬁnd _nswer the questions
Instruction: Read the information given below carefully

Fanatt V, V1, vII, VIIL, X, X

that follow : e
= <, T, 2femy

A,B.C,D,E, Fa G & @@ % 9@ 0T 8, 9 :
aXI.ﬁw@ﬁmﬁﬁmaﬁ@wﬁwm%WHﬁ, fa=dt, wifat,
fmgEdd gl

2 e | o, e i frwa fag o s A T ; —
B %! =fagr vaw iR &g wan VI 1 78 wg |ﬁﬂmm%a§&mﬁwmqﬁi|
V i e § 8 e 0 § | F it s o @ | C e VI H we 13 3t G wan VIl

E e X # wgan & 3 38 v g # | D 0 T e € | G I
A VI # 3@ aga 8 | F sen VI A 7@ qga 2 | _ :
A, B, C,D,E, F and G are seven students of a school, who arg.s &' Ag In seven {?lﬁerﬁf“t
Classes V. VI, VIL, VIIL IX. X and XI. Everyone of therg lfes)a particular subject viz.
English, Hindi, Physics, Chemistry, Mathematics, Histo graphy. Stude:}ts, Classes
and subjects can always be in different order as gy _ o

B likes History and does not study in Class \% ¢ who likes English studles' in
Class IX. The one who studies in Class V, likes C 1stry. F likes Physics. Cis study-mg
in Class VI and doesn't like Geography. ying in Class X and likes Mathem atlc*s.
D likes Chemistry. G doesn't like En G is not in Class VII or VIIL F is not in

Class VIILI. \

97. F farm e i ugan 7

F is in which Class?

(1) VI K (2) X

(3) XiI \Q (4) w3 sraamw Data inadequate
98. Gl wend .

G is ingw Class?
(1) )v&:m (2) Vi (3) XI 4 X
99. A ! SITHI {94 THE 27

Which subject does A like?

(1) f=t/Hindi (2) et/ Geography

(3) et/ English (4) 7@/ Chemistry
100. e 8 & HA wgd 27 |

Who studies in Class - 87
(1) B (2) C (3) A 4) E

i
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